PRODUCT













ENTHUSIASTS







MOTORSPORTS



INDUSTRIAL







HIGH PERFORMANCE PREMIUM XTREME RACING OIL

Available Sizes: 12x1 Qt. | 6x1 Gal. | 5 Gal. Pail | 55 Gal. Drum | 275 Gal. Tote

ULTRA LITE: LTS00000 | PRO-05 | 0W-20

► Full Synthetic Formula

SYNTHETIC BLEND: 3W-30 | 5W-30 | 15W-50 | SAE50 | SAE70

- Dynometer Testing Shows Lower Friction & Increased Horsepower
- Excellent Thermal Stability, Film Strength & Anti-wear Coefficients
- ▶ Reduced Friction to Bearings, Camshafts, Rings & Pistons
- "Synergyn" Infused for Xtreme Performance
- Increased Horsepower



MAGNUM HEAVY DUTY PREMIUM MOTOR OIL

Available Sizes: 12x12 Qt. | 6x1 Gal. | 5 Gal. Pail | 55 Gal. Drum | 275 Gal. Tote

MAGNUM HEAVY DUTY MOTOR OIL: 15W-40 | 15W-50

- Increased Lubricity & Soot reduction
- ► Longer Filter Life
- ► Reduced Oil Consumption
- ► HIGH TBN* to Fight Acid Build-up & Reduce Corrosion

*High TBN = Higher Total Base Number than National Brands Neutralizes Blow-By Acids & Allows for Longer Change Intervals.



MAGNUM FULL SYNTHETIC XTREME HDMO

Available Sizes: 12x12 Qt. | 6x1 Gal. | 5 Gal. Pail | 55 Gal. Drum | 275 Gal. Tote

MAGNUM XTREME FULL SYNTHETIC HEAVY DUTY MOTOR OIL: 5W-40

- Enhanced Lubricity & Advanced Soot Control
- Extended Filter Life
- Advanced Temperature Control
- Reduced Oil Consumption & Lower Emissions
- LONGER CHANGE INTERVALS
- ► HIGH TBN* to Fight Acid Build-up & Reduce Corrosion

*High TBN = Higher Total Base Number than National Brands Neutralizes Blow-By Acids & Allows for Longer Change Intervals.



Special Formulas and Pack Sizes: Chemists and Logistics specialists on staff to develop specific formulations.

For information on Custom Products please contact us at: **(480) 988-2400**





FUEL SYSTEM TREATMENT

Available Sizes: 24x16 Oz. | 6x1 Gal. | 5 Gal. Pail | 55 Gal. Drum | 275 Gal. Tote

120+ OCTANE BOOST

- ► Enhances Mileage & Horsepower
- ► Longer Engine & Component Life
- ► Reduced Emissions & Smoke
- ▶ Better Fuel Economy
- ► Knock Inhibitor



Available Sizes: 24x16 Oz. | 6x1 Gal. | 5 Gal. Pail | 55 Gal. Drum | 275 Gal. Tote

PREVENTALUBE

- ► Lubricates Entire Fuel System
- ► Longer Engine & Component Life
- Reduced Emissions & Smoke
- ► Improves Fuel Economy
- More Complete Combustion
- ► Reduces Carbon Deposits



OIL TREATMENT & STABILIZER

Available Sizes: 24x16 Oz. | 6x1 Gal. | 5 Gal. Pail | 55 Gal. Drum | 275 Gal. Tote

HIGH PERFORMANCE OIL TREATMENT

- ► Improves Oil Pressure
- ► Reduces Oil Temperature
- Prevents Blow-By Improving Fuel Efficiency
- ► Improves Horsepower
- ► Lengthens Seal & Valve Life



Available Sizes: 6x1 Gal. | 5 Gal. Pail | 55 Gal. Drum | 275 Gal. Tote

SUPER-LUBE OIL STABILIZER

- Prevents Dry Starts
- Protects Against Corrosion
- Adheres to Parts & Increases Compression
- ► Improves Film Strength & Viscosity

ABOUT SYNERGYN PERFORMANCE

SYNERGYN RACING OILS AND HEAVY DUTY LUBRICANTS are specially formulated to meet the critical high RPM, high torque of engines and components. The Synergyn combination of specially selected base oils, the latest in additive technology and proprietary ingredients, Synergyn Oils offer: EXCELLENT THERMAL STABILITY | REDUCED FRICTION | EXTREME SHOCK PROTECTION | ENHANCED ANTI-WEAR | EXTREME PRESSURE PROTECTION | SUPERIOR PROTECTION TO BEARINGS, CAMSHAFTS, RINGS & PISTONS.

All Synergyn oils exceed every manufacturers specifications & requirements to promote greater performance and better fuel economy in any engine – street or track. Dynamometer tests have proven Synergyn Racing Oils increase horsepower to the wheels from +2-4% over other engine oils.



DIESEL FUEL TREATMENT / CETANE BOOST

Available Sizes: 24x16 Oz. | 6x1 Gal. | 5 Gal. Pail | 55 Gal. Drum | 275 Gal. Tote

20+ CETANE BOOST DFT WITH PREVENTALUBE

- ▶ Pure Cetane Boost
- Increases Fuel Mileage & Horsepower
- Lubricates & Cleans Fuel Injectors & Pumps
- Anti-Gel Additive in Every Bottle
- Upper Cylinder Lube
- ► Reduces Hesitation & Stalling



Available Sizes: 6x16 Oz. | 6x1 Gal. | 5 Gal. Pail | 55 Gal. Drum | 275 Gal. Tote

XENTX XTREME ALL-IN-ONE DFT & CETANE BOOST

- ► Cleans & Lubricates Entire Fuel System
- ► Enhanced Cetane Boost
- Increased Lubricity Additives
- Lowers Opacity & Improves Fuel Economy
- Anti-Knock Additive
- ► Enhanced Combustibility for Increased Horsepower
- Anti-Gel "Winterblend" Available Upon Request
- HEAVY DUTY FORMULA



HYDRAULIC FLUID

Available Sizes: 5 Gal. Pail | 55 Gal. Drum | 275 Gal. Tote

SUPER TORQUE TRANSHYDRAULIC FLUID

- ▶ Eliminates Wet Brake Chatter
- Lower Operating Temperatures Through Rapid Heat Dissipation
- Enhanced Thermal Stability
- Synergyn Enhanced
- ► Longer Lasting Pumps, Hoses, Seals & Other Components



Available Sizes: 55 Gal. Drum / 275 Gal. Tote

ANTI-WEAR ISO HYDRAULIC 32, 46, 68, 100 SUPER H 5000 HYDRAULIC/COMPRESSOR ISO 32, 46, 68, 100 VACUUM PUMP OIL ISO 68

Perhaps the most advanced metal conditioners and fuel additives on the market, XenTx engine and fuel treatments reduce engine friction, corrosion, and the wear of metal surfaces, resulting in greatly reduced carbon emissions, increased power and a significant increase in fuel mileage.

Extensive commercial and government trials have proven the incredible performance and service benefits of these revolutionary products. The product is ideal for bulk users such as city transit fleets, stationary diesel engines, long haul truck fleets, government agencies and other heavy duty on-road and off-road vehicles.



AUTOMATIC TRANSMISSION FLUID

Available Sizes: 12x1 Qt. | 5 Gal. Pail | 55 Gal. Drum | 275 Gal. Tote

SUPER SHIFT ATF

- Reduced Friction & Wear
- ► Improved Protection & Performance
- ► Longer Clutch Life
- Maximum Power Transfer



GEAR LUBRICANT

Available Sizes: 12x1 Qt. | 5 Gal. Pail | 55 Gal. Drum | 275 Gal. Tote

MIL-L-2105B | MIL-L-2105C | MIL-L-2105D | MIL-2105E | PRF2105E, API GL-5 SYNGEAR II™ SYNTHETIC FORMULA XTREME RACING: 80W-140, GL5

GEARILLA™ FULL SYNTHETIC: 75W-140 (AMBER)

Xtreme Oxidation Protection & Heat Reducer

BLENDED SYNTHETIC: 75W-90 | 80W-90 (AMBER)

- MERITOR CERTIFIED
- Excellent Thermal & Oxidation Stability
- ► Excellent Extreme Pressure Protection & Durability
- Longer Equipment Life
- ► Excellent Seal Compatibility
- Reduced Operating Temperatures

UNIVERSAL GEAR LUBE: 80W-90 | 80W-140 | 85W-140 (RED TACKIFIED)

► Climbs the Gears for Maximum Protection



ASSEMBLY LUBE

Available Sizes: 24x16 Oz. | 55 Gal. Drum

XTREME ASSEMBLY LUBE

- Lubricates Tight Fitting Parts for Ease of Installation
- Provides Critical Start-Up Performance to Eliminate Dry Starts
- ▶ Displaces Moisture & Blends Completely with any Oil on Start-up
- Added Lubricity for Assembly
- ▶ Prevents Rust & Corrosion on Ferrous and Nonferrous Metals
- Protects Valve Train Parts to Include: Camshaft, Lifters, Valve Springs, Rocker Arms, Pushrods & Distributor Gear

TRACK TESTED & TRACK PROVEN.

SYNERGYN PERFORMANCE, BASED IN TEMPE, ARIZONA is committed to providing the best lubricants and fuel additives available anywhere. With a 30+ year heritage in auto racing, from short track to drag strip to super speedway, Synergyn products have been track tested and track proven. Product performance has been verified through extensive independent laboratory testing and on-the-road testing to exceed the performance of competitive products. Based upon our winning motorsports heritage, Synergyn Performance continues to innovate and improve. Whatever, wherever, and however you're driving, Synergyn Performance will make your best even better.



AEROSOLS & SPECIALTY

Available Sizes: 6x11 Oz. Spray

XENTX XTREME MULTI-PURPOSE LUBRICATING SPRAY

- Industrial Strength Formula
- ► Compatible With All Metals
- Provides up to One Year of Protection
- ► Nonflammable Propellant
- ► Indoor or Outdoor Use
- ▶ Safe for Electrical Switches & All Plastics

Available Sizes: 12x12 Oz. Spray

FOAMING CHAIN & CABLE SPRAY LUBE

- Non-Chlorinated Clinging Foaming Penetrating Spray
- Fortified with MOLY
- Dust & Rust Inhibitor
- Noise & Wear Reducer
- Prevents Cable Breakage, Seizure, Scuffing & Wear



BLAST AWAY XTREME PENETRATING SPRAY LUBE

- ▶ Ultimate Penetrating Oil Loosens Rusted & Stuck Parts
- Environmentally Friendly
- Superior Wear Protection
- ▶ Displaces Moisture, Prevents Rust & Corrosion
 - Preserves & Protects Keeping Metal Parts Looking Like New



Available Sizes: 10x14 Oz. | 50x14 Oz. | 35 Lb. Pail | 400 Lb. Drum

NLGI Grade 2

DY-100 MULTI-PURPOSE COMPLEX (GREEN)

- ► Timken OK Load 60 Pounds
- High Drop Point
- ► Extreme Pressure Four Ball 400 kg. Weld Point
- Soft & Tacky for Easy Pumping

DY-1000 SYNTHETIC MULTI-PURPOSE LITHIUM COMPLEX (WHITE)

- ► Timken OK Load 70 Pounds
- ▶ Drop Point 525°F+
- Extreme Pressure Four Ball 400+ kg. Weld Point
- Smooth & Tacky

DY-5000 SYNTHETIC XTREME HEAVY DUTY UNIVERSAL (RED)

- ► Timken OK Load 80 Pounds
- Drop Point 525°F+
- ► Extreme Tack Maximum Wash-out Resistance
- ► Extreme Pressure Four Ball 500 kg. Weld Point
- Smooth &Tacky



